Macroeconomics Test 1

1)
What is Economic?
1. Economics is about the choices that must be made about what to produce, how to produce it, for whom to produce, where to produce, and when to produce, because there is always a problem of scarcity in any society

2. Economics is divided into two major branches

a) Microeconomics: Which is a study of the decision’s of individual people and businesses, and the interaction of those decisions in markets

b) Macroeconomics: Which is the study of the national economy and the global economy, and it seeks it explain average prices and total employment income and production.

3. There are three different systems for making the economic decisions
a) The market system: In which demand and supply determine the prices and output

b) The command system: In which military, government or religious leaders determine prices and output

c) The traditional system: In which prices and output are based upon the way thing have always been done

4. In a market system mental confidence is the most important economic factor, and the best summary of this is “The Chicken Little” story, and still the most important person on the planet in terms of creating mental confidence is Allen Greenspan. Chairman of the Fed. (Federal Reserve Board which is the central bank in the U.S), controls monetary policy.
5. There are many indicators that help determine the level of business or consumer confidence and the main ones are:

· GDP Figures

· Unemployment Rate

· Inflation Rate

· Stock Market Indexes

2)
a) Distinguish between direct cost & opportunity cost, and give two examples of each

b) Distinguish between positive and normative economic statements, and give two examples of each, not in the test book (pg 12,13)

c) Outline five points on Adam Smith (pg 58,59)

d) Define land, labor, capital and entrepreneurships 

3. Define and illustrate a time-series graph, scatier diagram, cross-section
a) Draw the Circular flow diagram of the Canadian economy

b) For the following figures calculate (Expenditures approach):

· GDP

· NDP

· NI

· PI

· DI

· C

Consumer Expenditures
( 600 Billion

Investment


(   70 Billion

Government Expenses 
( 140 Billion

Exports


( 260 Billion

Imports
(Subtract)
( 210 Billion




____________

GDP



     860 Billion

Net Domestic Product (NDP)

GDP







-860

- 
Depreciation (Capital Consumption Allowance)
-40
_____________________________________________________
NDP







-820

National Income

GDP







-820

-
Indirect business taxes (payroll) 


-20

_____________________________________________________

NI







-800

PI (Personal Income)

GDP







800
-
Corporate profit taxes




-45

-
Retained Business Earnings



-35

(Undisrupted corporate profits)

-
Transfer Payments (Welfare, old age puncheon)       + 75

_____________________________________________________

PI







795
DI (Disposal Income)

GDP







795
-
Personal taxes





-95

____________________________________________________
DI







700

C (Consumer spending for this year)

GDP







700

-
Personal Saving




-50

____________________________________________________

C







650

Investment: 


85
Transfer Payment: 

70

Imports: 


260

Indirect Business Taxes:
25

Consumer Expenditure
650
Personal Savings

60
Exports


290

Personal Taxes

95

Government Expenditures
130

Retained Business Earning
40

Depreciation


20

Corporate profit taxes

50

c) For the following figures calculate (Incomes approach):

· GDP

· NDP

· NI

· PI

· DI

· C
Wages + Salaries



( 615 Billion

Rent + interest income


(   60 Billion

Corporate profits
 


( 80 Billion

Farm Income




( 25 Billion

Income from an unincorporated business 
( 40 Billion





____________

GDP



     820 Billion

From here you have the NI, to get the NDP you have to add Indirect business taxes (payroll), and to get GDP you have to add Depreciation (Capital Consumption Allowance), then it’s the same format as Expenditures approach. 

Rent + Income 




= 55
Transfer  payemts 




= 75
Corporate profits 




= 105

Personal saveing 




= 85

Indirect Business Taxes 



= 30

Retaned Business Earnings 



= 25

Farm Income





= 35
Personal Taxes




= 80

Depreciation (Capital Consumption Allowance)
= 20

Wages and Salaries




= 625

Corporate Profit Taxes



= 40
Income from unincorporated business

= 45

GDP 
= 915
NDP 
= 895

NI 
= 865

PI
= 875

DI
= 795

C
= 710

d) Why may the GDP figures or National Accounts NOT be a good measure of our economic well being? (pg 490-91)
a. The less the quality of produces the higher the GDP, because people will have to keep buying new products.

b. The sicker the society, The higher the GDP
c. The more crime epically with very  long court cases, the higher the GDP

d. The GDP figures are not given on a per-person, or per-capita so that if the GDP goes up by 5% while the population goes up by 10% we are worse off per-person.

e. Economic Activates that Canadians can do for them selves like, painting the house, or fixing the car, or looking after your own children are not included in the GDP figures.

f. The GDP figures give no indication of the distribution of the products  so that if the GDP goes up, it may be because 5% of the population may be a lot better off while 95% of people may be worse off.

g. Illegal activates are not included in the GDP figures and thus if we change the definition of what is a crime then the GDP figures will change

h. Qualitative aspects of life like amount of leisure time, feeling of security, amount of space, feelings of freedom to express yourself are not included in the GDP figures

i. The GDP figures give no indication of types of products being produced so that they GDP may be going up because more people are buying guns and porno movies rather then children’s clothing and vegetables

j. The whole area “underground” economic actives in which people either exchange skills or receive or pay in cash that is not reported to Revenue Canada is missing from the GDP figures…. Between 5 to 20% of the GDP goes unreported. 
4. n

b. Calculate the CPI and GDP deflector
	
	1996 Quantity
	1996 Price
	2003 Quantity
	
	2003 Prices

	A
	7
	50
	12
	X
	60

	B
	20
	20
	20
	X
	21

	C
	10
	25
	15
	X
	30


CPI

7
*
50 = 350

7
*
60 = 420
20
*
20 = 400

20
*
21 = 420
10
*
25 = 250

10
*
30 = 300


     = 1000



     = 1140
1140/1000 * 100 = 114%

GDP Defector
12
*
50 = 600

12
*
60 = 720

20
*
20 = 400

20
*
21 = 420

15
*
25 = 375

15
*
30 = 450



     = 1375



     = 1590

11590/1375 * 100 = 115.6%

c. Outline five reasons why the CPI may have a bias, and three coinsurances of this bias (pg 488, 489)
a. Distinguish between left and right approaches to solving the basic economic questions of any society:
The more left wing a political or society party the more the designs of what, how for whom, when and where to produce are made by the government, which owns or controls most of the resources of the society, and the government establishes prices in both the goods and services market and the resources market, and in theory because the government is elected by the majority of the people then most economic decisions should benefit most of the people most of the time; in terms of fiscal policy a left winger prefers higher taxes and more government spending and a very active monetary policy   
The more right wing a society or political party is the more the decisions of what, how, for whom, when and where to produce are made private individuals or privately owned companies who try to maximize their own profits, and in doing this they produce the maximum number of goods and services and in theory they use society’s resources most efficiently, the consumer dose his/her voting by deciding to buy or not to buy the product; in terms of fiscal policy a right winger prefers lower taxes, and lower government spending and a very inactive monetary policy… the bank of Canada should only increase the money supply by the amount by the GDP goes up.
b. Indicate where the political parties of Canada 
Left


Gov
<--
Center

( Private Business 
Right

Communism
Socialism

Liberalism
Capitalism
Fascism



(Social – Democrat)





(Military)

Canada

(Union Leaders) NDP

Liberal

Progressive
Canadian Alliance








Concretive (PC, Tories)

US







Democrats
Republicans
Grate Briton



Labour (Tony Blair)


Conservatives





“The Third Way”

Japan





(Socialist)

Liberal-Democrats







(Been in power for lat 52/53 years)

c. Name 5 primers and their political parties other then Ontario
a. BC 
Gorden Cambell
Lib

b. AB 
Ralph Klein

PC

c. Sak
Lurne Calvert

NDP

d. MAN
Gary Dover

NDP

e. Ont.
Ernie Eaves

PC

f. Queb.
Binard Landri

PQ

g. NB
Benard Loard

PC

h. NS
Dr. John Hamm
PC

i. NFLD
Roger Grims

LIB

j. PEI
Pat Binns

PC

d. Why dose Canada have a wider or more diverse approach to solving economic questions then dose the US:

H2
+
O


=
H2O

Before 1700 in Europe 

After 1700

=
Socialism

Feudalism


Revolution

                    i) Equality


Monarchy


Base On

        ii) Belonging to a larger


Catholic


i)Equality

             group or society


Military


ii) Individual


   H



O
In the 1500, 1600 immigrants from Spain and Portugal came to what is now central and south America bring with them the “H” only and so, for the past 300 years or so this part of the world (until very recently) this part of the world remained an H type society in which 10% of the people owned 90% of the land, usually with a military government and supported by the catholic church; in the 1700’s immigrants came from northern Europe (England, France, Germany) bringing with them “HO3” point of view to what is now Canada and the United States, but during the American revolution from 1776 to 1783 and for a few years after, the Americans kicked out all those people who believed in the “H” point of view and the majority of these people came to Canada and were knows as the United Empire Loyalist and so for the past 200+ years the United States  has had only one point of view… The “O” point of view, and to be an American no matter where you come from the world you must say that you believe in each individual looking out for them self economically and everyone should have at equal chance to make a million dollars and perhaps the gun is the best symbol of the “O” outlook because in the American constitution every citizen has the right to bear arms (have guns), and thus when ever the Americans go else where in the world like African, Asia or south America they naturally expect everyone to behave just like themselves but in reality they are usually bringing their “O” point of view into “H” type society and the result is the often socialism or communism and the Americans go crazy; meanwhile the founding formula of Canada becomes H2O3 (we get the extra H from the us that were kicked out) and so in Canada there are political parties representing the “H” point of view the “O” point of view and the “H20” point of view.
7a: Discuss the unemployment figures in Canada (10 Mark)

1. Each month statistic Canada does a survey of 54,000 (or some number) households 

2. Because 85% of the surveys are done by phone then those who can not afford a phone because they are not working or those who are moving across the country looking for work are left out of the survey and it is probably much easier liar over the phone. 

3. Employed is defined as anyone working one hour a week or more or working with out pay in a family business 

4. Unemployed is defined as a person available for work and must have looked for work in the previous four week or waiting to be called back from a temporary layoff. 

5. The labor force is defined as employed + the unemployed.

6. The unemployed rate equals unemployed over the labor force. 

7. The working age population is everyone in Canada is 15 and over. 

8. The labor force participation rate would be (TODO complete the sentence)

9. Those over 15 but not in the labor force are: 1) Retired; 2) voluntarily stay at home; 3) Independently wealthy; 4) Discouraged workers; 5) Full-time student.

10. More important figure may be the duration because in good economic the unemployed rate may be high because lots are people are quitting their job expecting a new one in a few weeks. While in bad economic time the unemployed rate may be low because everyone is afraid to quit their jobs because it may take 2 or 3 years to find a new one. 

11. How the unemployment rate neglects two types of hidden unemployment: A) Those who want to work more than they are now. B) Those who are not working at job they want. (i.e. Nuclear scientist driving a cab)

12. Another problem with the unemployment figures is that in good economic time the unemployment rate may go up because many discouraged workers now say they are looking for work. 

7b: From the following figures, calculate the unemployment rate and labor force participation rate. (5 mark)


[image: image1.emf]Population in Canada 30.0

Discouraged Worker 1.0

Under 15 5.0

Full-time Students 3.0

Retired 1.5

At home 2.5

Employed 15.0

Independently wealthy 1.0

Working Age population 25.0

Labor Force 16.0

Employed 15.0

Unemployed 1.0

Unemployment Rate 6.250%


7c: Discuss the changes male and female labor force participation rate in the last 40 years. (5 Mark)

1. The male labor participation rate has gone above 80% to 75%, while the female labor participation rate has gone above 25% to over 60%. 

2. The male rate has gone down because it is more socially acceptable for the male to stay home and look after the kids if the female has better paying job, and earlier retirement packages, and longer schooling. 

3. The female rate has increased because of the ability to work at home with computers.

4. Another reason would be the work has become safer then women’s right or desire to work is possible. 

5. Another reason physical structure of urban apartments and home does not allow 12 or 15 children.

6. More often diverse or separation means to more single parent family.

7. More material goods (DVDs, cars) that people believe that both male and female must work to maintain such a lifestyle.

(1 on the male, 3 on female points are needed. This can be any reasonable points)

7d: Describe the four types of unemployment. (5 marks)

Pg 507, 508.

118 g: Draw a map of Canada. (10 Mark)

(Refer the notes)

Note down which is bonus and which is not

February 5, 2003

Example: 7b: 


[image: image2.emf]Population in Canada 31.0

Discouraged Worker 0.5

Under 15 4.5

Full-time Students 3.0

Retired 4.0

At home 1.5

Employed 16.0

Independently wealthy 0.5

Working Age population 26.5

Labor Force 17.0

Employed 16.0

Unemployed 1.0

Unemployment Rate 5.882%

Employment Participation Rate 64.151%


Possible questions from the multiple questions

Ch 1
do not 11, 12

Ch 2 
none

Ch 3 
do 1, 2

Review 36,37 – do 5, 8, 10, 15

Ch 4
None

Ch 21
do not 20, 21, 22, 23

Ch 22
do 1, 2, 6, 8, 10, 21, 22, 23, 24, 25

Ch 23
Do 1, 2, 5, 6, 11, 12, 13, 14, 15, 16, 17, 21, 22, 24, 25

Multiple choice and Map will be on the freaking mid-term

(all politics in Canada and the rest of the world is about economics)
Bonus: Investment 

i- New plant and equipment

ii- Changed in inventory

iii- Residential Construction (new homes)

Bonus: GDP is the final value of all the products produced in one year

Bonus: If the GDP goes down two consecutive quarters then we officially in a recession

Bonus: Another name for Gdp, Ndp, Ni, Pi, Di, C is Pantheon (Pan = all Theon = gods) 

Bonus: If we built cars that lasted for 30 years, we would mentally clops as a society 

Bonus: PQ: Parti Quebecoes – Provincial

BQ: Block Quebecos - Federal
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